INFEVRNMTBEIRALT—TIL 10/31(K) ~ 11/30(L)

A N 7K X & + H
8:25 J 1% 8:25 J20%R%
A ~ (/IN1~1)\6) ~ (/N5~t3)
9:25 I\ 9:25 12
9:30 9:30 _ﬂ’!"*}]n’f& 9:30 _ﬂ'!b*ﬂff& 9:30 9:30 —ﬂ’,{'*}]l:]:;’f& 9:30 Jl?‘)]q:?’f& 9:30 _ﬂﬁ*ﬂff&
B — o (BRER L) = (BREL L) = - (BREL L) = (/N1~7)\6) - (BREL L)
10:50 10:30 iz]E2 10:30 =) 10:30 10:50 )1 10:30 JNLL 10:30 +E
10:55 — RSN 10:55 — RS Rk 10:55 — RS R 10:55 10:55 — SR 10:35 J210%% 10:35 J190%R
C w2 (ERELL L) a2 (BREMUL) R (BREMUL) = = (EREL L) ~ (/\5~rh3) ~ (/N1~1\6)
11:55 I\ 12:15 piz)c2 12:15 )1 12:15 11:55 )1 11:35 I 11:35 iz)E=
12:20 — RSN 12:20 X0 12:20 — RSN 12:20 — SR 12:20 W3V h> 11:40 — RSN 11:40 JZ?‘JJ*&
D o3 (ERELL L) a (BREMUL) = (BREMUL) = (EREL L) a7 (EREL L) o (ERER L) ~ (/N5~H13)
13:20 THEF 13:20 Piz]E2 13:20 izJE2 13:20 FHEF 13:20 IKAE 12:40 )1 12:40 Kig
13:45 — S 0ER 13:45 — SR 13:45 — i) PR LS4, 0=k 13:45 — DR 12:45 J1405% 12:45 BP1
E a2 (BREL L) a2 (EREL L) A (EREL L) . . = (BRE L) = (/\1~/)\6) = (/1~F3)
14:45 I\ 15:05 Kig 15:05 izJE2 13:50~14:50 14:45 PizJE2 13:45 I\ 13:45 + 2
15:50 BP1 15:50 J1405% 15:50 J1¥)4R% 15:50 J11)4% 15:50 J190%R 13:50 J24%R% 13:50 J24P§R
F - (/N1~F3) - (/\1~7\6) = (/N1~711\6) = (/\1~7]\6) = (/\1~7]\6) 7 (/N5~H13) - (/N5~H3)
16:50 THET 16:50 Hig 16:50 N 16:50 THET 16:50 TR 14:50 =) 14:50 TR
16:55 J290%R% 16:55 J1 )R 16:55 J190%% 16:55 J29) iR 16:55 J14DiR 14:55 J190%% 14:55 J190%R%
G R (/\5~H13) ~ (/N1~11\6) ~ (/N1~11\6) ~ (/N5~FR3) ~ (/IN1~1\6) ~ (/IN1~1\6) ~ (/IN1~1\6)
17:55 JNL 17:55 K12 17:55 I 17:55 THE 17:55 iz]E= 15:55 I 15:55 iz]E=
18:00 J1405% 18:00 J1105% 18:00 BP 2 18:00 BP1 18:00 J2919ER 16:00 J1241ER 16:00 J191ER
H| ~ (/N1~1)\6) ~ (/N1~1)\6) ~ (I 1~7E3) ~ (N ~7E3) ~ (/\5~Hh3) ~ (/\5~Hh3) = (/N 1~1)\6)
19:00 FHET 19:00 Kig 19:20 JNLL 19:00 FHET 19:00 Liz]E2 17:00 Riz]E2 17:00 + 2
19:25 — SR 19:25 — PR 19:25 — RS0 ER 19:25 J24% 19:25 — i) PR 17:05 BP 2 17:05 BP 2
I a2 (ERELL L) a2 (BREMUL) A (BREMUL) o (/\5~th3) ~ (EREL L) ~ (/N1~F3) = (/N1~F3)
20:25 THET 20:45 =) 20:25 TR 20:25 THET 20:45 IKAE 18:25 )1 18:25 TR
20:50 — iR 20:50 — i) R 20:50 — PR 20:50 — iR 20:50 — %R 18:30 BP3 18:30 — %R
J a2 (ERELL L) a2 (BREMUL) A (BREMUL) = (EREL L) = (EREL L) ~ (/N1~F3) = (EREL L)
22:10 THET 22:10 K12 22:10 IKAE 22:10 IKAE 21:50 TizJE2 19:50 )1 19:50 K12
19:55 — sk 19:55 BP3
XLUIAWAEORRIEHDFEA CvL-3ovh-21-XEEZETHEZHEVELET, ) = (BREL L) - (N1~F3)
LA 1— bEIER (Frotl) Fro v FHIEO3EFIET s <l e A5
H 607> 2,200/ (%) RIBOFv> Il RED50% X FS1ZTHRISALRBDET
TH% 607> 2,750 (FiA) LHOFv> I RED100%
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